2007-2008 6TH GRADE CONTEST

Answers

30.

How many of the numbers 3, 12, 24, and 48 are factors of every
whole number that is divisible by both 6 and 8?

A) 1 B) 2 Q) 3 D) 4

30.

31

How long is a radius of the largest circle whose points are all
either inside of or on a square whose perimeter is 8?

A8 B4 Q2 D)1

32.

I plan to buy 2 more $6 puzzles
than $5 puzzles, so for exactly
$100, I plan to buy ? puzzles.

A)17 B)18 C)19 D)20

33.

V3IX12 X V4X9 =
A) 2%x18 B) 18x18
C) 3x2 D) 36x36

31

—

33.

34.

If I sit in a row of 26 seats, then the ratio of the number of
seats on my left to the number of seats on my right could be

A) 1:1 B) 12 Q) 13 D) 14

34.

35.

The ones’ digit of the product of 2008 consecutive integers, each
greater than 0, can have up to ?_different possible values.

A) 1 B) 5 C) 9 D) 10

35.

36.

If 24+4+6+. .. +100 = 2550, then 1+3+5+. .. +99 =
A) 2500 B) 2475 C) 2450 D) 1275

37.

With his hat on, the Invisible Man is 180 cm
tall. His hat adds 20% to his height. Without
his hat, the Invisible Man’s height is ? cm.

A) 144 B) 150 C) 160 D) 216

38.

For 2 of the 1440 minutes in a 24-hour period,
one or more 5s appear in a digital clock’s display.

A) 32  B) 450  C) 472 D) 492

39.

A square whose area is 64 is split into two
rectangles whose areas differ by 16. The
perimeter of the smaller rectangle is

A)20 B2 C24 D)2

36.

37.

38.

39.

40.

How many different triangles of all sizes can be
traced along lines already drawn in the diagram?

A) 16 B) 15

40.

Q) 13 D) 11

The end of the contest £y 6

Visit our Web site at http://www.mathleague.com
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2007-2008 Annual 6th Grade Contest

Tuesday, February 19 or 26, 2008
Instructions

Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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